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1. BADER
# H OERRE | QUERFTH % =
AEERRE A282,891 770,177
HRIRA 2,012,000 1} 1,930,000 | 8,000x305+4,000x25
g 656 1,000
A 118,000 0
E1 1,852,765 | 2,701,177
2. THOE
# H OIEEMIW | VERTFHE i =
HEy v-IREDRIR | * 432,600 | 1,000,000 | 500,000 2[H
T v—InEERRE | * 174,475 141,540 | 210/ x337A X2
TERALW, ENRIF 0 0
FOAHEDRIR 0 30,000
AEEEN 52,195 100,000 | TEFSEEEZ) RYbal
WEZFRSR 32,601 (v 70,000 | FLRBFHHOEDHER
HRERESHK - 40,000 |FHL L HE
= 1 5,480 20,000
TR AL 50,000 40,000
TR 202,560 |e 150,000
HHELER 9,987 20,000
Eugs 35,000 40,000
B EAR 40,000 160,000
€] -4 - 70,000 | #HL L BE
MY 47,700 20,000
gt 1,082,588 | 1,841,540
KEERES 770,177 859,637
F & 1,852,785 ! 2,701,177
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